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Instructions : (1) Figure to the right indicate marks allotted to each question.
(2)  All questions are compulsory.
1. (A) What is financial service ? Explain the needs of financial services and also
important components of financial system. 14
OR
(i)  Explain meaning and functions of Custodian. 7
(i1)) Distinguish between Factoring and Forfeiting. 7
(B) Choose the correct option : (any four) 4
(i)  What is BBB credit rating ?
(a) Weak safety (b) More than medium safety
(c) Medium safety (d) Normal safety
(i) When National Securities Depository Ltd. is established ?
(a) 1996 (b) 1994
(c) 1998 (d) 1999
(ii1)) Which financial instrument is not capital market from the following ?
(a) Equity share (b) Treasury bill
(c) Preference share (d) Zero coupon bond
(iv)  Which is included in the financial system from the following ?
(a) Financial instruments (b) Financial intermediaries
(c) Financial market (d) All of the above
v) are also called deep discount bonds.
(a)  Zero coupon bond (b) Regular income bonds
(c) Retirement bonds (d) Growth bonds
(vi) Credit rating of which financial instrument is made compulsory by RBI and
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SEBI ?
(a) Preference share (b) Debenture
(c) Equity share (d) Redeemable Preference share

5 P.T.O.



2. (A) Define Merchant Banking. What are the pre-issue and post-issue obligations of

(B)

3. (A)
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merchant banker ? 14
OR

(i)  Explain the roles of merchant banker in the capital market. 7

(i)  Write short note on types of housing loan. 7

Choose the correct option : (any four) 4

(i)  Which service investment bank is not giving from the following ?

(ii)

(iii)

(iv)

)

(vi)

(a) Service regarding initial public issue
(b)  Service regarding right issue

(c¢) Service regarding forfeiting

(d) Service regarding preferential allotment

As per SEBI rules, appointment of which officer is compulsory for
commercial bank ?

(@) Human Resource Officer (b) Compliance Officer

(c) Public Relation Officer (d) Financial Officer

The merchant banker has to make available the offer document to general

public within after filling to SEBI.
(a) 25 days (b) 23 days
(c) 21 days (d) 22 days

How many banks can be appointed as a lead merchant bank in the case of
public issue upto 50 crore to 100 crore ?

(a) Three (b) Five

(c) Four (d) Six

When the Housing Development Finance Corporation is established in India ?
(a) 1975 (b) 1977

(c) 1978 (d) 1974

Which is not a function of commercial bank from the following ?
(a) Management of Investment trust

(b) Insurance business

(c) Corporate advisor

(d) Academic advisor

What is the meaning of Banking Reforms ? Discuss in detail including its phases. 14

(@)
(i)

OR
Explain the functions of bank. 7
Explain the different types of General Insurance. 7



(B)

4. (A)
(B)
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Choose the correct option : (any three) 3
(i) How many banks were nationalized in the year 1969 ?

(a) 12 (b) 13

(c) 14 (d 15

(i) The principle of clear declaration of all important information relating to
insurance is called
(a) Principle of full trust
(b)  Principle of insurable interest
(c) Principle of reimbursement of loss
(d) Principle of transfer of property
(ii1)) The specific amount to be paid by client for the insurance against the risk is
(a) Insurance premium
(b) Total Amount of insurance paid by insurance company
(c) Total Amount of Insurance
(d)  Amount risk beared by Insurance Company.
(iv) Which bank is included from the following in the new bank of private

sector ?
(a) HDFC Bank (b) ICICI Bank
(c) AXIS Bank (d) All of the above

(v) By which name is written contract of insurance known ?
(a) Partnership deed
(b) Articles of Association
(c) Memorandum of Association
(d) Policy

What are Mutual Funds ? Explain advantages and limitations of investing in

Mutual Funds. 14
OR

(1)  Write short notes on Assets Management Company. 7
(i1)) Explain in detail the SEBI’s guidelines about mutual funds. 7
Choose the correct option : (any three) 3
(i)  On what bases trustees of Mutual Funds should give the report of activities

on Broad ?

(a) Monthly base (b) Half yearly base

(c) Yearly base (d) Quarterly base
(i1)) In which year Unit Trust of India established ?

(a) 1960 (b) 1962

(c) 1964 (d) 1966

7 P.T.O.



(ii1)) S.I.P. means .
(a) Scheme Investment Plan
(b) Systematic India Plan
(c) Systematic Investment Performance
(d) Systematic Investment Plans

(iv) Which mutual fund was established first of all by private sector ?
(a) Morgan Stanly Mutual Fund
(b) Kotak Mahindra Mutual Fund
(¢) Kothari Pioneer Mutual Fund
(d) C.R.B. Mutual Fund

(v) After declaration of dividend within how many days dividend warrant
should be dispatch to the unit-holders ?
(a) 15 days (b) 30 days
(c) 10 days (d) 21 days
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Instructions : (1) Figure to the right indicate full marks.
(2) Use of simple calculator is allowed.
(3) Graph paper will be given on request.

1. (A) (i) Discuss the scope of operation research in the various sector. 7
(i)  Use graphical method to solve the following LPP : 7
Minimize : 7 =35x+25y
Subject to : 3x +y =30,
x+2y<40
4x + 3y > 60 and
x,y=>0
OR

(i)  What do you mean by degeneracy in LPP ? How it can be solved ?
(i1)  Solve the following linear programming problem :
Maximize : Z = 50x; +20x, — 40x,

Subject to : x; +x,< 25,

x;—x;< 10 and

X1, X520
(B) Answer the following by selecting an appropriate alternative : (any four) 4
(1) If three or more variables are there in an LPP, then method is
used to solve it.
(a) Graphical (b) Hungarian
(c) MODI (d) Simplex

(2) Which of the following cannot be an objective function in linear
programming ?
(a) Z=10x+25y (b) Z=20x-8y
(c) Z=2x3+3x? (d) Both (a) and (b)

MT-116 14



2.

€)

4

©)

(6)

(A) @)

(i)

The feasible solutions a linear programming problem is
(a) Convex (b) Negative

(¢) Unknown (d) Infinite

For a maximization problem the objective function coefficient for an
artificial variable is
(a) M (b)y -M

(c) zero (d) None of the above

Artificial variable in simplex method must be introduced when the

constraints consist of sign.

(@ < (b) =

() = (d) (b)and(c)

A physical model is an example of

(a) An iconic model (b) A mathematical model

(c) A dynamic model (d) None of these

“An assignment problem is a special type of transportation problem.”
Discuss this statement.

Solve the following transportation problem by Vogel’s Approximation

(1)

MT-116

method. Also obtain total transportation cost.
D, D, D, D, | Supply
0, 3 4 4 5 350
0, 3 5 4 2 450
0, 3 3 4 3 200
Demand | 200 | 400 | 300 | 200
OR
Obtain basic feasible solution of the following transportation problem by
matrix-minima method and find optimum solution.
D, D, D; | Supply
0, 8 5 1 40
o, 4 7 3 60
0, 6 2 4 70
Demand | 70 40 60
15 P.T.O.



(1)) A captain of a cricket team had to allot five middle batting positions to five

batsmen. The average runs scored by each batsman at these positions are as

follows :
Batting Positions
Batsmen
I v \% VI vl
A 43 43 38 28 53
B 45 33 19 28 30
C 53 51 43 63 53
D 23 22 23 21 28
E 61 63 62 58 56

Make the assignment so that the expected total average runs scored by these

batsmen are maximum.

(b) Answer the following by selecting an appropriate alternative : (any four)
(1) In which method of solving transportation problem the unit cost of
transportation is not taken into consideration ?
(@) N-W corner method (b) Least cost method
(c) Vogel’s method (d) None of these

(2) For a transportation matrix of order 5 x 4, how many number of
independent solution will be ?
(a) 20 (b) 19
() 9 (d) 8

(3) Which of the following methods is used to verify the optimality of the

current solution of the transportation problem ?

(a) Least cost method (b) Vogel’s method
(c) MODI method (d) N-W corner method
(4) In assignment problem supply of each origin demand of each
destination.
(@ > (b) <
(¢) = (d =
(5) How many assignments would be there in any row or column in assignment
problem ?
(a) Exactly one (b) More than one
(¢) Not fixed (d) None of these

MT-116 16
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3. A @O
(ii)
(i)
(ii)
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Hungarian method of solving the assignment problem give
solution to the problem.

(a) Initial basic (b) Optimum

(c) Non-negative (d) Degenerate

Explain graphical method for solving mixed strategies of 2 x n or m x 2
game theory. 7
There are eight jobs to process each of should go through two machines A
and B in order AB. The processing time (in hours) has been given as per the
under. Find out optimal sequence and minimum elapse time for the
processing. 7
Job 1 2 3 4 5 6 7 8
Machine-A | 20 | 16 | 14 | 21 16 | 19 | 20 | 18
Machine-B 25 | 18 | 21 19 | 18 | 16 | 12 | 15

OR
Solve the problem of game and find value of the game :
(D) Player — B
B, B,
A, -1 3
Player— AA,[ —2 6
AL 4 3
2) Player — B
I I I
i 2 15 =2
Player— A 2| -5 -6 4
3L -5 20 -8

The following table gives machine time for five jobs. Find the sequence of
the job that minimize the total elapse time to complete the jobs. What is the

total idle time all machines ?

Job 1 2 3 4 5
Machine-A 6 9 5 7
Machine-B 5 2 4 3 6
Machine-C 9 7 8 9 10

17 P.T.O.



(B) Attempt any three :
(1)  What do you mean by saddle point ?
(2) What is fair game ?
(3) For a sequencing problem of n jobs on two machines, if the lowest time is

for j™ job on machine M,, the j" job is put place available.

(4) What is “No Passing” rule in sequencing problem ?
(5) State the models of the sequencing.

4.  (A) (1) Give the difference between PERT and CPM.
(i1)) Explain terms :
(1) Dummy activity
(2) Independent float
(3) Free float

OR
(1) A project has the following activities and time.
Activites 1-2 | 1-3 | 14 | 23 | 25| 35| 45

Optimistic time 3 5 4 16 7 6 10
Most likely time 6 11 19 | 20 10 10 | 20
Pessimistic time | 15 17 28 30 13 20 | 36
(1) Draw PERT Network.

(2) Determine the expected time and its variance.

(3) Obtain the average compilation time of the project and its standard
deviation.
(i1)  Find critical path for the following project and then find EFT, LFT and float
time for each activity :
Activity | 1-2 | 2-3 | 24 | 3-5|3-6 | 46 | 47 | 5-8 | 6-8 | 7-8
Time 2 3 5 4 1 6 2 8 7 4

(B) Give the answer for the following questions : (any three)
(1) What would be the float time for the activities lying on critical path ?
(2) Foranactivity, if 3t = t, = 2t = 36, find expected time of an activity.
(3) Give definition of preceding activity.
(4) Give the formula of free float.
(5) Define optimistic time of activity of PERT diagram.
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01212 ot 3 Ul iy 2 drll AeelHi AL velAaalg Het ol 14
UL

Ad2-vit-oll aRllelFlAl vl 3 Aldd ol 2 d-vidll euolleldl (A

[ao1d vl
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(B) -l sl alel Ll : 4
(1) salisa 2edueefladl Hiddl edl ¥
(@) U512 AU wRadHL igani dlaal AS.
(b) AR oML s3] AL 52l ASL.
(¢) ARSI ¥ AU uRad-l ur »iga daidl as.
(d)  GuML 519 Al

) AlRuHiel 59 o gl uML 9 2
(@) -ton dist 25l a¥ A€l
(b)  HedH A5l 5HIS wsiU Al
(c) GBu-l 6iqd
(d)  GuRML 519 Al

(3) S8l 61 AUdRAML HIAd, e ?
(a) .ol A (b) Lol AAAA
(c) »u-n (d)  Gu™MLd, 519 Al

4)  lR-usiedl sul el eelleRl Al a9 2
(@) d sdamdl auiRal Gualell «©
(b)  d A=Al ARl Gualell ¢
(c) GBu-l oid
(d)  GuHLd 519 &l

3. (A) suLusiRdl [za dur-lld [saudl odi sl [@asig Hie Gualdll ¢ iyl

[azal dwizlla-dl alsyoll [aza dwdlla w2 avusel 5. 14
UL
[azell Aelu-Al vaia 22l [AsAdl wdl s d 3l Id Gualall © 2
(B) AL walel et AUl 3
(1) s wieue A Haaot
(a) lAld AW 528 (b)  luld [HE~e
(c) otfell Al (d)  GuMid 519 el
2)  AlRAmiel sl sa gL 2SR skl Ry 9 ?
(@) [RouyR (b) ®IRd
(c) 48l (d)  GuHld 519 Al
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4. (A)

(B)

MT-116

(3)  Alumiell g [azell A1 Hie A1 © 2
(@) d- ud Ysaa-ll slu o
(b)  d-d uxd ysaar-l 2l elidl
(c) o ol Bl AL 83 HOL €9
(d)  GudL 519 Al

idglY Al oAl Geal aueadl, d-ll [y g2 Alld amendl. 14
UL
gAY AR o uS.2H.As) sl wmeadl. [ qui d-L
(3643l 11.) Al
A2AAL Wil Bl Ul 3
(1) 2idAA Rl [ Yo, Has s34l 2udg, ¢ 2
(a) -la (b)  dllEee L.
(c) ~4uls (d)  GuMid 519 el
(2) 2 ARl Mo s sk, (([ale Gus EsR) sva
e
(a) 1946 (b) 1969
(c) 1973 (d) 1975
(3)  AlAAHiedl 53l 2xidAnlY ARl oL Gga el 2
(@) AL diRe esidl 2vg)
(b) [AAHA g2l Razdl «aadl
(c) vl &ad [BR1eL Hie eigds] wiydl
(d)  dRAY duRA Ul UG
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Seat No. :

MT-116

March-2019
M.Com., Sem.-11

407 : Economics of Developing Countries — I1

Time : 2:30 Hours] [Max. Marks : 70
1. (A) Discuss the importance of monetary and fiscal policy in developing countries.
Explain the objectives of tax structure in context to it. 14
OR

Discuss the meaning and types of deficit finance. What are the effects of deficit

finance in developing countries?

(B) Answer the following questions : 4
(1) The central bank of country the C.R.R.(Cash ReserveRate)
during inflation.
(a) increases (b) decreases
(c) doesn’t change (d) none of above

(2) Keynes explained the importance of which policy?

(a) Monetary (b) Fiscal
(c) Agriculture policy (d) None of above
(3) The Government should the taxes during inflation.
(a) increase (b) decrease
(c) notchange (d) None of above
(4) The increase in deficit finance the inflation.
(a) increases (b) decreases
(c) doesn’t change (d) None of above

2. (A) Why did the market economy fail? Discuss the importance of economic planning

in context to it. 14
OR

Why did the concept of Public Private Partnership (PPP) become popular? Write

about PPP in detail.
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(B) Answer the following questions : 4

3. (A)

(B)

MT-116

(1)

)

€)

4

The classical economists believed that

(a) the Government should control the economic fluctuations
(b) the Government shouldn't intervene in the market.

(c) only the Government can control the economic fluctuations.
(d) None of above

Which of the following is a problem of market mechanism?
(a) The weak can't survive.

(b) Maximum profit can't be earned.

(c) Both of above

(d) None of above

Who believed in market economy?
(a) J.B.Say (b) P.A.Samuelson
(c) Keynes (d) None of above

Which of the followings is a benefit of Public Private Partnership(PPP) ?
(a) Itisuseful to increase the efficiency.

(b) It is useful to improve management.

(c) Both of above

(d) None of above

What type of foreign trade policy is useful for development of developing

countries? Compare inward looking foreign trade policy with outward looking

policy. 14
OR

Discuss the concept of foreign aid. How is it useful to developingcountries?

Answer the following questions. 3

(1) Export promotion policy means

2)

(a) Import substitution policy (b) Import restriction policy
(c) Outward looking policy (d) None of above

Which of the following country is called as a tiger country of the world in
context to foreign trade?

(a) Singapore (b) India

(c) US.A. (d) None of above
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€)

Out of the followings what is true for foreign aid?
(a) It carries the obligation of repayment.

(b) It doesn’t carry the obligation of repayment.
(c) Itis provided with very low interest rate.
(d) None of above

4.  (A) Write about the objectives and exchange rate policy of LM.F.

Evaluate the functions of .LM.F. and discuss the functions ofW.T.O.

OR

(B) Answer the following questions :

(1

)

3)

MT-116

Where is the head office of .M.F. located?
(a) Geneva (b) Washington D.C.
(c) New York (d) None of above

When was S.D.R. introduced by LM.F. ?
(a) 1946 (b) 1969
(c) 1973 (d 1975

Out of the followings what is not the objective of LM.F.?
(@) To maintain gold standard

(b) To maintain exchange rate stability

(c) To provide the guarantee to private sector

(d) To promote the international trade
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